Beispiel (A)
\X/andl'd'ngen
|,5= (10,91 + 6,00) * 2 = 33,82m

[,c= 6,00 + 350 + 225 = 11,75m

W andflachen
A= 33,82 * 2,85 = 96,39m”
-4 %135 * 195 = ~6,75m"
- 950 * 295 = -5 63m*
- 160 * 295 = -3.60m°
80,41m*
A= 175 * 2,85 = 33,49m°
-2 %080 * 200 = -320m°
30,29m*
Ziegelbeddrf
_ 1 _
"7 005 x (0238 + 0.012)
16Stk/m?
n j— ] p—
™ 038 * (0238 + 0,012)
10 5Stk/m?
n 755 = 80,41 % 16 = 1287 6Stk
ngag = 1287,6 * 105 = 13515tk
n70s = 30,29 * 10,5 = 3185tk

nas = 318 * 1,05 = 3345tk

Erstellt mit einer

Schulversion van Nemetschek




